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Conference on Integer Programming and Combinatorial Optimization

gobooooobooobooooboooboogos3on 2DDDDDDDD

BRICAD(A) UT)  ALT(H)

% BREAD

& 1PC0 2013 - The 16th Conference on Intege...

L
- Callfor Papers.  Local Information Registration

The 16th Conference on
Integer Progr and Combi
March 18 - 20, Valparaiso - Chile Bl

1IPCO

The IPCO conference is under the auspices of the Mathematical Optimization Society
(formerly known as the Mathematical Programming Society). It s held every year, except
for those in which the Symposium on takes
place. The conference is a forum for researchers and practitioners working on various
aspects of integer and The aim is to present

The 16th Conference on Integer Programming and
Combinatorial Optimization (IPCO XVI) will take place
from March 18 to March 20, 2013 on the campus of
Universided Técnica Federico Santa Maria, in
Valparaiso, Chile.

ial Optimization -

News W
‘Pictures are available!

The IPCO 2014 webpage is
available.

The proceedings are now online.

FEnELr

https://www.cec.uchile.cl/“ipco2013/
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http://www.orie.cornell.edu/news/index.cfm?news_id=62130
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